
Fax Option Type C2550/C2530 
(D432/D433) 

 



 

 
 

  1.Fax Option/Memory Unit (D432/D433) ................   2 

Parts Index...............................................................   6 

Fax Option Type C2550/C2530 (D432/D433) 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 

 

October 17, 2008 



2 

 

1.Fax Option/Memory Unit (D432/D433) 

Option

D423

D433 D432

D432/D433(EU)
D432/D433(NA)

D432/D433(NA/ASIA)

103

Option

1

2

3

4

101

101

5

104

6

102

102

8

7

8

9

10

106

105

11 12

13 14

15

16

17

107 103 102

19

3

 



3 

 1 A514 1200  Decal:Serialnumber Sheet:FJI 1 

 2 B404 3861  SG3 Decal 1 

 3 B447 5182  PCB:SDRAM-DIMM:32MB:PC100 1 

 4 B771 5050  Speaker 1 

 5 D432 5180  PCB:MBU:Ass'y 1 

 5 D433 5180  PCB:MBU:Ass'y 1 

 6 D432 5804  Holder:Ferrite Core:27MM:Fax Control Unit 1 

 7 D432 5132  PCB:GWFCU3:NA:Ass'y (D432-NA) 1 

 7 D432 5134  PCB:GWFCU3:EU:Ass'y (D432-EU/AA/CHN) 1 

 7 D401 5132  PCB:GWFCU3:NA:Ass'y (D037-NA) 1 

 7 D401 5134  PCB:GWFCU3:EU:Ass'y (D433-EU/AA/CHN) 1 

 8 AA14 3590  Screw - M3x4 2 

 9 D432 0521  Sheet:Fax Control Unit 1 

 10 D432 5801  Bracket:Fax Control Unit:Peen 1 

 11 D037 1421  Operation Sub-unit:Diana-C1L:Fax:NA:Ass'y 1 

 11 D037 1422  Operation Sub-unit:Diana-C1L:Fax:EU:Ass'y 1 

 12 B223 1530  Keytop:Trans:NA 1 

 12 B223 1536  Keytop:Trans:EU 1 

 13 B237 1543  Sheet:Display:Multi Language 1 

 14 B237 1546  Sheet:Data:Display:Many Languages:2 1 

 15 B404 5821  Handset Bracket 1 

 16 H523 5350  Telephone Cable 1 

 17 B223 1835  Bracket:Hand Set 1 

 

 

 

 

 

 

 

 

 

 

 

 

 101 0353 0060N Bind Screw - M3x6  

 102 0360 3006N Screw - M3x6  

 103 1105 0050  Clamp:CKN-20  

 104 1607 2142  FSSA271020RN000T  

 105 1103 3734  Connector:TM-6-DC1(01)  

 106 1105 0692  Clamp:LES-0503  

 107 1607 1139  Ferrite Core:RFC-8  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

1.Fax Option/Memory Unit (D432/D433) 

O'Brien
Deleted
PCIL: March 2009



 

 

Parts Index 



6 

D432 0521  Sheet:Fax Control Unit   3 -   9 

D432 5132  PCB:GWFCU3:NA:Ass'y (D432-NA)   3 -   7 

D432 5134  PCB:GWFCU3:EU:Ass'y (D432-EU/AA/CHN)   3 -   7 

D432 5180  PCB:MBU:Ass'y   3 -   5 

D432 5801  Bracket:Fax Control Unit:Peen   3 -  10 

D432 5804  Holder:Ferrite Core:27MM:Fax Control Unit   3 -   6 

D433 5180  PCB:MBU:Ass'y   3 -   5 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

A514 1200  Decal:Serialnumber Sheet:FJI   3 -   1 

B223 1530  Keytop:Trans:NA   3 -  12 

B223 1536  Keytop:Trans:EU   3 -  12 

B223 1835  Bracket:Hand Set   3 -  17 

B237 1543  Sheet:Display:Multi Language   3 -  13 

B237 1546  Sheet:Data:Display:Many Languages:2   3 -  14 

B404 3861  SG3 Decal   3 -   2 

B404 5821  Handset Bracket   3 -  15 

B447 5182  PCB:SDRAM-DIMM:32MB:PC100   3 -   3 

B771 5050  Speaker   3 -   4 

D037 1421  Operation Sub-unit:Diana-C1L:Fax:NA:Ass'y   3 -  11 

D037 1422  Operation Sub-unit:Diana-C1L:Fax:EU:Ass'y   3 -  11 

D401 5132  PCB:GWFCU3:NA:Ass'y (D037-NA)   3 -   7 

D401 5134  PCB:GWFCU3:EU:Ass'y (D433-EU/AA/CHN)   3 -   7 

H523 5350  Telephone Cable   3 -  16 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Parts Index 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No. 

Part No. 



7 

AA14 3590  Screw - M3x4   3 -   8 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

0353 0060N Bind Screw - M3x6   3 - 101 

0360 3006N Screw - M3x6   3 - 102 

1103 3734  Connector:TM-6-DC1(01)   3 - 105 

1105 0050  Clamp:CKN-20   3 - 103 

1105 0692  Clamp:LES-0503   3 - 106 

1607 1139  Ferrite Core:RFC-8   3 - 107 

1607 2142  FSSA271020RN000T   3 - 104 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No. 

Part No. 


	1.Fax Opt ion/Memory Unit (D432/D433) 
	Parts Index 

